WMK VA
§E A S ARI I 1S 8 007 HANSAVFLEX

]

£01 KEISN IR, B T
BHEX 1 BaEHR
#£02 KEISNIRS, B AT

FHER 2 2404
gges BEAR IR EE
-2 2F AE0°

Ly DIN 2353
ISO 8434-1
HeEE W IR MY BT EE
;¢ T4
'R
BREE, EFA, EHAFRAATNIERENRBEEESHERRERNERER.
® &
S£HMRY IEEIE BAET G
(mm)
WM 04 LL 6 VA LL PN 100 4 M6x1K 7,0 21 11,0 17 9 10
WM 04 LL VA LL PN 100 4 M8x1K 7,5 21 11,0 17 9 10
WM 04 LL 10 VA LL PN 100 4 M10x 1K 8,0 21 11,0 17 9 10
WM 06 LL 6 VA LL PN 100 6 M6x1K 7.0 21 9,5 17 11 12
WM 06 LL 8 VA LL PN 100 6 M8x1K 8,0 21 9,5 17 11 12
WM 06 LL VA LL PN 100 6 M10x 1K 9,0 21 9,5 17 11 12
WM 08 LL 6 VA LL PN 100 8 M6x1K 8,0 23 11,5 20 12 14
WM 08 LL 8 VA LL PN 100 8 M8x1K 8,0 23 11,5 20 12 14
WM 08 LL VA LL PN 100 8 M10x 1K 10,0 23 11,5 20 12 14
WM NW 04 HL VA L PN 315 6 M10x1K 8,0 27 12,0 20 12 14
WM NW 06 HL VA L PN 315 8 M12x1.5K 12,0 29 14,0 26 12 17
WMNW 08 HL 12VA L PN 315 10 M12x1.5K 12,0 30 15,0 27 14 19
WM NW 08 HL VA L PN 315 10 M14x 15K 11,5 30 15,0 27 14 19
WM NW 10 HL VA L PN 315 12 M16x 1.5 K 11,5 32 17,0 28 17 22
WM NW 13 HL VA L PN 315 15 M18x1.5K 13,5 36 21,0 32 19 27
WM NW 16 HL VA L PN 315 18 M22x1.5K 15,0 40 23,5 36 24 32
WM NW 03 HS VA S PN 400 6 M12x1.5K 12,0 31 16,0 26 12 17
WM NW 04 HS VA S PN 400 8 M14x1.5K 12,0 32 17,0 27 14 19
WM NW 06 HS VA S PN 400 10 M 16x 1.5 K 12,0 34 17,5 28 17 22
WM NW 08 HS VA S PN 400 12 M18x 1.5K 12,0 38 21,5 28 17 24
WM NW 10 HS VA S PN 400 14 M20x 1.5 K 14,0 40 22,0 32 19 27
WM NW 13 HS VA S PN 400 16 M22x1.5K 14,0 43 24,5 32 24 30
HEHMRILL=FER =R S=F - PN=8IEEHN PB=HAI{EESL - 0=BNER
R
WMK FEAIRRIERE AE0°, N

XWMK VA FEARIRIERE, AE0°, THN

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
24.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



